HISA (HN)-04

West Bengal State University
B.A./B.Sc./B.Com ( Honours, Major, General ) Examinations, 2015

PART - II

HISTORY — HONOURS
Paper - IV
( NEW & OLD SYLLABUS )

Duration : 4 Hours | [ Full Marks : 100

Candidates are required to give their answers in their own words as far as practicable.
The figures in the margin indicate full marks.
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( New Syllabus )

Answer Question No. 1 and any four from the rest.
> A A R I (F (P b oAt Teg

Group - A
faetor-=
L Answer any four of the following questions : 4x5=20

@ W 513l 2y Sy e ¢

a)  What is meant by manorialism ?
WA A IE70o F QIR 2

b)  What was the impact of Black Death on European economy ?
T Ao T yor'a eifeferm s e 2
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What de you mean by the ‘Military Revolution’ in early modern Europe ?
R RBEMReR it e ReR @ems e 2

What were the features of humanist education ?

TRIoRT R tafEieR R et 2

Who were the Anabaptists ?
SRS R e 2

What do you mean by ‘New Monarchy’ ?

] GO IENS ¢ QI ?

What was Galileo’s contribution to modern science ?

e R smffes s e & 2

How did Locke define the nature of an ideal government ?
o5 e a3l o TR T (of IWREE 2

Group - B
etsi-1
Answer any four of the following questions. 4 x20=280
@ @ 51l v T )

2. Internal contradictions or long distance trade — which was mainly responsible

for the fall of feudalism in Western Europe ?
oA FRE A EOER ATe — o BTSN AT AT & PR R

wid &= 2
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How far were the Portuguese voyages in the fifteenth century both an episode in
the long struggle of Christianity and Islam, and an attempt to reach the

resources of an ancient trade in gold ?

wmwm@ﬂw@w@mﬁﬂaﬂmmemwmmaw
T @3 A FAAFIET Tt TS TeNH LANEETS ?

What do you mean by ‘Price Revolution’ ? What was its impact on 16th century
European economy and society ?

e g’ TS P Q@I 2 Ao e BSENeR WU ¢ FeR Torw @3 R eer
fo# 2 '

How far did Humanism create a secular vision of life ? To what extent was it

reflected in Renaissance paintings and sculptures ?
TR (5o Febl @l e iy R FrfeE 2 e o @wein fbar ¢
oy i eifewfre zafe ¢

Make an assessment of the contribution of Martin Luther to the relative success
of the reformation in Germany. .

GHANS ORFR RTINS EETE P51 Wi AER SRAIEE IR
FF |

Analyse the character of Tudor Monarchy founded by Henry VII of England.
Beenred AW @A 36% afefe Ber ey i Rurd % |

Would you agree with G. R. Elton that the English reformation was primarily ‘an
act of the state’ ? y

f&r. . wetbea i e R ewe (v R wiiEr S e pre s al
AGCFA ?
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9. What do you mean by Scientific Revolution ? How far did it contribute to the

secularization of European mind at that time ?
Rer Rem wwe B @@ 2 werily 2T@Ee wfaers anbree fow ot Fouf
R TR 2

10. How far is it correct to label the English Civil War as a bourgeois revolution ?

Bemsd PRyEE 93 o Red o B w1 webl e 2

( Old Syllabus )

Answer Question No. 1 and any four from the rest.
S X 8P G U] (U (P BT efva T i |

Group - A
faetr-=

) 53 Answer any four of the following questions : 4x5=20
vz @ @W s1l v Tew fw

a) What was the Junk trade in China ?
i & Aferey e foet 2

b)  Write a short note on the Treaty of Nanking.
arfee piea Som @l snefire Bl e |
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Write a note on the ‘White Lotus Society’.
eqerT A’ Aok @l Bt forg |
Write a note on Long March,

¢ 6 7E @l B frg |

Determine the status of Daimyos in the social structure of Pre-Restoration

Japan.
AIE- ST SIS AN FIIAITS CIRAT cafey sy fefy 267 |

Write a note on the ‘Open Door’ policy in Japan.
O G Afen Torm @ Bl Brer |
Between whom and when was the treaty of Portsmouth signed ? Explain

its significance.

I, FI T CAGIAS LR T IS Zafeer 2 @B A owy e et 2
Discuss the significance of the Washington Conference.
ST IS SFF ol 3% |
Group - B
et

Answer any four of the following questions.

I oAl 4w Se e |

4 x 20 = 80

How was central and local governments structured under the Ching rulers in

China ?
B e @ ¢ ek er B arreee Sliw e zwie 2
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How would you explain the weakness in the process of Chinese industrialisation

in the early 20th century ?
ﬁmmmﬁwﬂmmﬂﬁﬁmmﬁmﬂﬁMWW?
Discuss the factors behind the rise of ‘warlordism’ in China in the early 20th

Century,

of the Tokugawa Shogunate ? 10 + 10

ﬁ&ammmmﬁammwmwemmmwmmm?
mmemmﬂwmmwﬁasmﬁﬁsﬁs%?
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8. Bring out the salient features of Japan’s Constitution of 1889. What was its
character ? 10 + 10

Sobd HER SIER R HaF (AFBef ST 3 | afta opfs 6 et 2

9. Discuss the background and effects of the Sino-Japanese war of 1894-1895.

Sud8-Sude HET BIN-GIF Joaa Hghiel a8 FoFa ST 1 |

10. Explain the growth of militarism in Japan during the 1930’s and 1940’s.

S fofam @ BT P ST FHIRITE S A FF |
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